55

M4

W%

=

INFERHF

T E I
1. #4120 &, 2 et ) A 120 544,
2. A BMERLREEERF L,

— AR (I 8 /R, BINE 3 57, 2 . BIMNEBRE- 1M ETRFNASEEN)
L FF = BEaF, BAFK =<1 HBRHE

A.—1 B. 1 C.2 D. 3

2. A, EANABC 1 ,AB=AC, /B=55", W /C M EEH
A, 70° A
B. 60° /\
C. 55° B C
D, 35°

3. AR =2 R LR IEFRRE
A S B. <r4—+3 443
C ¢4+ D. 44—
4. I TH&HAEHAABC EREA=fATKHEE
A. A /B: /C=3:4:5
B. /A+/B=2/C
CCAB:BC: AC=4:5:6
D. AB*=BC*+AC?
5. il , FEAABC H1,BC=8,AB WFEH Y343 BC TR D, ACHEHEY B3 BC THE,

RANADE # KK
A8 4

B. 4 )@&
C. 12 B D\ ’E C

D. 16
6. AASAFR‘a WE 3 WEN 2 HEAKT 17, FAXTERE
A 2(a—3)>—1 B. 2(a—3)<{—1
C.2(a—3)<—1 D. 2a—3<—1
7. FHla R , 3 e R B A B A 2
A. B =RIERZFEABETNETRAKFET
B. 2 F =AM EHAES
C. Fa=AEH=1mH%
D. 7] ﬁﬁ*ﬂ%aﬁﬁﬁyﬁ

[%% #1R(3k67)] . 22—03—CZ112b - 3.24{—)

8. #ni&l, AABC By 30,AD W53/ BAC, H BD | AD T D, RIAADC KR

A 18 A
B. 15
D. 10 B d

“RERE(H S ME, B3, 155)
9. “# a—3<b—3,M a bUH > <75 “=").
10. A, %h AABC 5 HE M FATHEHL m,n 38, #F L BDF = 140°, M| LAEG 8y K/ K

B
No £ £ ip A
L E ¢ " = B % B
# 10 A %12 B % 13 8
1L RS o< ER B A,

12. 0B, 7E RIAABC i, /C=90°, LATUK A WBL 3 5% 5 4 B3, 5 BI3E AC, AB T4
M, N, B4 HE M,N HELL, AT MN KK YEBEN, FAXT A P AR AP it

BC ¥4 D. # CD=2,AB=5,MAABD HEF 2 .

13. @, ZEAABC #1, /C=90°, /B=230°,AB=8,P k31 BC ¥ 5,Q /1 AB tzhH,
4 PQ=BQm},BQ KN :

S RER(H 138,81l . MEEEHTR)

14, (WS 5 PIBAFR 32— 1<z +3.

[X¥ ZE2m(E67)] « 22—03—CZ112b+ 3.24{—)




15. (AP 5 4 BWAZR, —§>1-—£‘§_—§.

16. (A4 5 4 @, ZEAABC 1 ,AB=AC,D £ BC ¥ &,DE | AC, R B E. &
/BAC=50°,3k ~/ ADE ¥

17. (B4 5 40) @, ZE RtAABC vh, /C=90°,i%#i1 AB F¥f— 5 E,{##8 CE=BE.
(REA/EHE, B EEIR T , ABIERE)

A

N\

C B

18. (AfBHE4> 5 43) BAl 30— y—3m=0,Y4 y FABET, 3R m HBERTE.

19, (BEH4 5 )l , EEFHANAABC H,D B AC Wy 8, ik BC 8|5 E ,{# CE=CD,

%3 DB, DE.
B}D\
C E

K. DB=DE.
[ S3W(#k6T)]) - 22—03—CZ112b + 3.24(—)




20, GREEWA 5 ) ERET = MABRA—0)2>2, TN =<y 2 HHM 11— +b-+21.

21, (A4 6 41 InE, T RtAABC b, /ABC=90°,D Ri1 AB t—#,; A DfEDF|
AC FA F,5E# FD 3 CB hEK L T8 E, B BE=AF. RiE:CD 3}/ ACB 8¥44R.
A

F

D

I-l
E B C

22, (RS T MR BEMK /PR HRIKE A B B AR 3L 1000 . B

MK A FRHE RO Y 20 T5/88, 0 B M BB 30 T/, E BT 4y
BRI 22000 76, RY/NE BB B M HOBR

23, (&4 7 /) InE,N\NABC 5ACDE S hEM=AK . B&ECE t,/ABC=/CED

=00°, BC=ED,AC=CD.
E

(DRE:ACLCD.
(2)#%#: AE,. ¥ AB=5,BC=2,K AE fJK.

[#2 %4 T(L6TN] . 22—03—CZ112b* 3. 24{—)




24, (R S 8 )nE ., ENAABC Y, L/ABC R AC FRED, KA D¥EDE //BCX
AB FHAE.
(1)3RiF . ABDE REE=f#F.
(2)%,/BDE=30", /C=40°,3k /A B

25. (A4 8 ) Ml . ANABC B%¥h =¥ ,D,E 532 BC,ACii Lt &K ,BD=CE, £
AD,BE,H AD,BE #3%2¥F 5 P,AQ| AP % BE i EK L F 5 Q.
(1)3RiE: AABDRABCE.
(2)3R L APE {EE#.
(3)#& PQ=12,PD=1,3k BE M.

(¥ ZE57(#k6m)) .« 22—03—CZ112b « 3. 24(—)

26. (A4 10 )W, ZEAABC v, & D,E 4517 BC,AC t,%%# AD,DE,B /ADB+
ZEDC=/CED.
(1)3RﬁE :AD=AE.
(2)# /B=2/EDC,}RiE: /BAD=_/C.
ERHEHET . & ABC=60°,AB=8,AE=17,K DE H.

AN

[¥3 %6 0i(t67T1)) « 22—03—CZ112b « 3. 24(—)

¥

R & =




